Purim!!!
MTNK -(The unity of all Am-Yisrael)

Goal: The Charichim showld wrdenitand e importamce of AmNimael being
Togethen Hhrow e Megila and Purims’ costomas.

# An acting game-
Choose one kid that will act Aster and one kid that will act Mordechai in
the following scene- and tell the story: (use the instruments)
Aster 1s in the Palace getting a message from Mordechai
that Haman is planing to kill all the Jews. She’s getting nervous
(The actor can act Aster with all of her feelings) and sending a message
back to Mordechai with explanation why it is so hard to go to the king
without being called.
Mordechai sends another message telling Aster that the whole Jewish
nation depends on her now.
Asster doesn’t know what to do. if she’ll go to the king she might be
killed but if she won’t the whole nation will be in danger- What will she
do?
So She is asking one thing from Mordechai in order to help her...

STOP HERE!

# Tell the Chanichim to think about themselves in Asters position. What
would you ask before going to the king??? —(say Hi to my best friend,
buy me my favorite chocolate, pray to Hashem, a new dress, etc’)

# What did Aster ask for? Give the Chanichim the Puzzle and ask them to
put it together. Then read the sentence-

“07 710" 72 IR 0112 177 -

WHY????7 How can it help her?

# Play the “Plonter” game: tell the Chanichim to stand in a circle and give
the yarn to the first chanich. He should hold the end of the string, and
throw the rest of it to another Chanich. Continue until all the chanichim
have a string in their hand. Tell them to hold on tight and not to let
go. You’ll end up with a whole big mess with the rope. After you finish
tell one of the Chanichim to let go. What happened? Everything fell apart
because of one person. (if it doesn’t — make sure it will...)



#Ask your Chanichim to build a pyramid from paper cups. When they’re
done- take away one cup in a way that will destroy the whole building.
(once again’, we see the importance of being together)

# What happened on the last game? (Everything fell apart because of one
person) in the Megila all of Am Yisrael are the people whom are holding
the rope. Aster, unlike the game continued to hold the rope. She knew
that she couldn’t stop holding it because Am-Yisrael is connected
together and everyone depend on her- that’s why she went to the king and
risked her own life.

And what happened in the Puzzle? If one piece would have been missing
we couldn’t be able to read the whole sentence. The same thing with
Aster’s request she knew that only when all of Am-Yisrael is together,
only then they can be saved, only then Hashem will listen to us.

# So... what do we have on Purim that shows us N1TNX?

@ “T11IN N2WN"-Everyone are giving to their friends something and
this is how we see that all of us are connected together.

@ "0"11"2XR? N1INN” We are taking care for all the people in Am-
Yisrael and we can’t forget the poor ones also.

Have a great and happy Purim!

Shabbat-Shalom!



Communal responsibility
Introduction:
short clip (start of the clip until 1:05) from the movie “the box” where a man proposes that you get

$1M but someone who you don’t know will die.
(http://www.youtube.com/watch?v=aHmOH-F1U6I)

Discussion — Ask the students:
=  What they saw in the movie and ensure that they fully understood the proposal?
=  What would they decide and why?

Pose the Purim Dilemma: (source sheet required or psukim around the room if few)

In Esther 2:10, we are told that Esther did not tell the king or anyone else that she was Jewish.
=  What do you think life was like for her in the palace?
= Do we know from the megilah if life was hard for her?

Read Esther 4:7-11 and ask the students to explain the dilemma facing Esther:
= What is the problem for the Jews?
=  What is Mordechai’s solution?
=  How does this solution impact on Esther? (ensure that the students understand very clearly
that there is a very high possibility of her being killed on the spot!)
=  What are her options?

Watch a clip from the Lion king when nala comes back to ask Simba to challenge Scar and fix all the
problems. - http://www.youtube.com/watch?v=KS5apnJcWoTU&NR=1

= What are the similarities between the dilemma facing Simba and the one facing Esther?
= What does Simba eventually decide?

Read Esther 4:15-16 and ask the students:
= what does Esther decide to do?
= Does she seem positive about the idea? Does she think that it will work?
o The answer should be no
= If she is not confident, why does she go through with it?

Conclusion:
= What character trait of a leader is Esther demonstrating?
o  Ensure that all the students understand 100% what is meant by the term communal
responsibility!!!
= Can you give another example of this trait (communal responsibility)?


http://www.youtube.com/watch?v=aHmOH-F1U6I
http://www.youtube.com/watch?v=K5apnJcWoTU&NR=1

Integrity
Trigger #1: Pin the tail on the donkey

As the students walk in, they are given a picture of a hamentaschen and told to pin it on the side of
Haman’s face. However, the madrich also tells them that Ben-Zion forgot to give blindfolds so we the
students will have to close their eyes.

Once all the kids have completed their turn, ask the students to sit in a circle.
Trigger #2: Broken telephone

The students should be seated in a circle and the madrich should whisper a message into the ear of the
person sitting next to them. The message then gets passed on from ear to ear until the madrich receives
it from the last person in the circle.

If the message was the same (very unlikely), complement the group and explain that it hardly ever
happens.

If not, ask the students who changed the message to see if they own up.

Then, go back through the circle to see what each person heard. This will show who changed it and if
everyone was telling the truth.

Trigger #3: The chocolate game (but a little bit different)

The game is played as normal (with a block of chocolate, cutlery, dress-ups and dice) but instead of
rolling the dice for all to see, the dice is rolled in secret so only the person rolling it can see if they got a
6.

Each person takes turns to roll the dice and either passes on the secret dice box to the next person if
they did not get a 6 or get up and start eating if they did get a 6. No-one else is allowed to inspect the
dice to verify the roll.

Dilemma: Should Mordechai tell Achashverosh about Bigtan and Teresh?

1. Read Gemara megilah 11a-11b that discusses that Achashverosh was evil (11a) and that the
whole party was because the Jews had not been redeemed (11b). Ask the students:
= Based on this Gemara, how would you describe Achashverosh’s character?
= Do you agree with this description?
= Do you think that the people of the time (especially the Jews) would have
thought of him this way? (try to convince them to say yes)

2. Read Megilla 2:21 and ask the following:
NB you may have to constantly remind them that they don’t know what will happen in the megilla
as it has NOT happened yet. They can only decide based on what they know now.
= What are the pros and cons of Achashverosh dying?
=  Who knew about this assassination attempt? (mordechai)
= If you were Mordechai, what would you do and why?
=  We all know that Mordechai did tell on them and it turned out well (although it
really had no bearing on the story). Why do you think that he decided to tell?

Conclusion:
What important leadership characteristic can we see from mordechai’s actions? (Integrity)
When the tuckshop lady gives you too much change, do you tell her and give it back or do you keep it?

Explain to the students that many times they will be put in a situation where they can either do what is
right or what is wrong and no one will know.



Now link it back to the triggers: during broken telephone it was very easy to see who changed the
message and who was honest. However, whenj pinning the hamentaschen or during the chocolate
game, no one other than yourselves know if you were cheating.

Shlomo Hamelech says in *2Wn/N?7npthat 119 7NWN 1710 DU 114, a good name can not be bought but it
must be earned through honesty and trustworthy behaviour. A great leader such as mordechai must be
full of integrity.
Mesirut Nefesh — Self sacrifice
Introduction: song or game about self sacrifice
Activity:
Pinned up around the room are a number of pictures of people who have sacrificed something
for others, on a personal level or on a communal or national level. At the back of each picture

is a short blurb explaining the situation and circumstances leading to their actions.

Students go around the room and pick one picture to concentrate on. They then take down the
picture, read the blurb and are instructed to devise a very short play outlining the event.

The pictures will include Mordechai and Esther as each one of them were willing to sacrifice
their lives for what they believed in and in order to help the Jewish people. Other pictures will

include:
e the man who stood in front of a tank in Tiananmen Square in China
e Roi Klein

e Edward Dunlop

e  The fireman from 9/11
e  Rescuers in Haiti

e Doctors without borders
e etc
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Station- lead by example.

Game- the group sits in a circle and one of the kids needs to go out of the room until
hes called back in. the kids in the room pick a person that will start a movment and
everyone need to follow what he does and he needs to keep changing the
movements. The person that went outside looks at everyone and needs to find the
person that everyone is copying his movements.

- Inthis game we see a leader that leads his people by giving an example to them.

We show a video of different example of leading by example.
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During the tochnit well show parts from the megilah that show how mordechai was
a leader by example.
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Peula Para adultos- Purim

Obgetivos:

e Divertirse.

e Ampliar el conocimiento de los participantes en respecto de la historia de la Meguila y de

Mitzvot Purim.

Duracion: 80 minutos

Orden:

e Rompe hielo- 10 minutos (Mati).

e  Jidon Purim- 20 minutos.

e Actuacién de Meguila- 30 minutos.

e  Sikum- 10 minutos.

1. Rompe Hielo- Ali Baba y los cuarenta ladrones.

2. Jidon Purim

Nuimeros Lugares Relaciones Personas Historia
Mehuman, Bizta, Xerxes
Jarvona, Bigta, ({Como se
Iehuda y
13 ) Hijo de Hamadata Abagta, Zetar y llamaba
) (Cual era la origen ) )
(Qué dia es Teanit (Quién era Jarcés Ajashverosh

de la familia de

Ester (ayuno)? Hamén? (Quiénes eran los 7 | en el Idioma
Ester y Mordejai?
sirvientes de Parsi?
Ajashverosh?
Grecia
Yozl (Qué pafs
127 Paras y Madai Su tio (Quién vigilaba a it

(En cudnto paises (Donde sucedié la | ;Qué Avijail para | las mujeres que se Ajashverosh

reino Ajashverosh? | historia de Purim? Mordejai? presentaron ante .
conquistar y
; ?
Ajashverosh? fracass?
Nicola de
7 Mehodu Vead
Damasco
(Cuantos dias durd Cush Esposa de Asfata
(De qué
el banquete que (Cudl era el Ajashverosh (Quién era uno de
historiador
hizo Ajashverosh territorio que (Quién era Vashti? los hijos de )
. del tiempo
para la gente de ocupaba el reinado Haman?
podriamos

Shushan?

de Ajashverosh?

aprender del




imperio

pérsico?
Ahura Mazda
14 (Quién era el
Shushan Primos Zeresh
(Qué dia de Adar Primer Dios
) (Cuadl era la capital (Qué eran (Quién era la
festejamos a de los
de Paras? Mordejai y Ester? | esposa de Haman?
Purim? pérsicos?
o La puerta del Dios Coresh
palacio de (Quién no (Quién era el
(Cudntos dias duro ) Su sobrino )
Ajashverosh . aparecid, por lo fundador del
el Banquete que (Qué era Mordejai
(Doénde se sentaba menos por su reinado de
hizo Ajashverosh para Avijail?
Mordejai todos los nombre, en la Paras?

para todo su reino?

dias?

meguila?

2. Actuacién de la Meguila

Situaciones para presentar:

a. Banquete de Ajashverosh y presentacion de Vashti Haman y los ministros. (madrijim)

b. Vashti se niega a ir al banquete de Ajashverosh.

c. Busqueda de nueva reina y llegada de Ester que no puede revelar su verdadera identidad por orden

de Mordejai.

d. Mordejai se niega arrodillarse a Haman

e. Haman se enoja y quiere eliminar el pueblo judio.

f. Hamdn pide permiso al rey para eliminar al pueblo y tira a la suerte la fecha. Morejai de esto y se lo

cuenta a Ester.

g. Ester arma un banquete en el que se lo desenmascara a Haman y lo terminan matando a él.
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